
REFERENCE NO.

REFERENCE NO.

REFERENCIA NO.

REFERENZ-NR.

NOM DU PRODUIT

PRODUCT NAME

NOMBRE DEL PRODUCTO

PRODUKTBEZEICHNUNG

              

1

BEIGE

3517920655557

151639BEIG

NOTICE DE MONTAGE
14/09/2016

NOTE OF ASSEMBLY / INSTRUCCIONES DE MONTAJE / MONTAGE-ANLEITUNG
 

Meuble à usage domestique / House furniture / Meuble a uso domestico / Möbel für den häuslichen Wohngebrauch

EAN:

LIT FRANCESCO 140x190cm

BEIGE



No. Taille Qté Ctn no.

No. Size Qty Ctn no.

No. Tamaño Cant Ctn no.

Nr. Maße Anzahl Ktn nr.

1 HEADBOARD 1

2 FOOTBOARD 1

3 SIDE RAIL 2

4 4

5 1

6 3

7 1

Quincailleries/Hardware/Herrajes/ Montageteile- Ctn no./Kto. nr. 1

A  B  C  D  

E  F  G  H  

I  J  K  L  

M  N  

TEMPS DE MONTAGE: 30 MINUTES OUTILLAGE:

SET-UP TIME: 30 MINUTES TOOLS:

TIEMPO DE MONTAJE: 30 MINUTOS HERRAMIENTAS:

MONTAGEZEIT: 30 MINUTEN WERKZEUGE:

NOMBRE DE PERSONNES: 02 POUR L’ENTRETIEN, UN CHIFFON DOUX SUFFIRA.

NUMBER OF PERSONS: 02 FOR GENERAL CARE, A PIECE OF CLOTH WILL BE ENOUGH.

NUMERO DE PERSONAS: 02 PARA EL CUIDADO GENERAL, UN PEDAZO DE PAÑO SERÁ SUFICIENTE

NOTWENDIGE PERSONEN: 02 HALTEN SIE FÜR EINE SAUBERE MONTAGE EIN FEUCHTES TUCH BEREIT.

SAV / Spareparts / Pos Ventas / Einzelteile EAN

x x x x

x x x x

x x x

Meuble à usage domestique / House furniture / Meuble a uso domestico / Möbel für den häuslichen Wohngebrauch 2

5/16" HEX NUT SPANNER 13mm

xxx

(No. / Nr ) x (Qté/Qty/Cant/Anzahl)

x 4 x 1

201 LEG BRACKET M4 x 20mm M8 FLAT WASHER M8 SPRING WASHER

M6 SPRING WASHER M4 x 38mm
M4 ALLEN KEY M5 ALLEN KEY

x 4 x 16 x 4 x 4

x 8 x 9 x 1 x 1

M6 x 20mm M8 x 16mm
M8 x 30mm M6 FLAT WASHER

SLAT SET

x 8 x 4 x 4 x 8

CENTER RAIL PC

CENTER SUPPORT LEG PC

PC

PC

PC

BED LEG PC

1

2
3

4

5

6

7



A  D  E  

G  I  K  

L  M  N  

1

2

x 4 x 4 x 1

M8 SPRING WASHER 5/16" HEX NUT SPANNER 13mm

x 1 x 4 x 4

M4 ALLEN KEY 201 LEG BRACKET M8 FLAT WASHER

x 4 x 4 x 4

M6 x 20mm
M6 FLAT WASHER M6 SPRING WASHER

x 3

5

6

STEP A

STEP B

1

2

4

I

N

M

K

L

A
D

E

1

4

G



3
Meuble à usage domestique / House furniture / Meuble a uso domestico / Möbel für den häuslichen Wohngebrauch







A  C  D  

E  G  H  

J  

4
Meuble à usage domestique / House furniture / Meuble a uso domestico / Möbel für den häuslichen Wohngebrauch

3

x 8

M4 x 20mm

x 2 x 1 x 1

M6 SPRING WASHER
M4 ALLEN KEY M5 ALLEN KEY

x 4 x 4 x 2

M6 x 20mm M6 x 30mm
M6 FLAT WASHER

STEP A

STEP CSTEP D

STEP B
3

C

1

H

D

E

A

G

J

1
3

J

3
1





A  B  D  

E  G  H  

J  

5
Meuble à usage domestique / House furniture / Meuble a uso domestico / Möbel für den häuslichen Wohngebrauch

4

x 8

M4 x 20mm

x 2 x 1 x 1

M6 SPRING WASHER
M4 ALLEN KEY M5 ALLEN KEY

x 4 x 4 x 2

M6 x 20mm M6 x 16mm
M6 FLAT WASHER

STEP A

STEP CSTEP D

STEP B3 2

B

H

G

D

E

3

2

A

2
3

J
J

2
3





F  

6
Meuble à usage domestique / House furniture / Meuble a uso domestico / Möbel für den häuslichen Wohngebrauch

5

6

x 9

M4 x 38mm

x 2

2

5

x 9

7

7

F




